More Fun with Rates and the FTC Name:
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The rate at which people enter an amusernent park on a given day is modeled by the function £ defined by
15600 '
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Tha rate at which people leave the same am{&emeﬁt.purk on the sama day i modeled By the function £ defised by
9890
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Both E(t) and L(¢) are measured in people per hour and time ¢ i meastred inWht, Thexe

finctiors are valid for 9 < ¢ < 23, the Mwhich the park is open. At time t = 9, there are no people in

the park. - : W ‘ _

(8) How many people have en_.tgaf_t_he;park by 500 PM. (1 = 17 )7 Round answer 10 the nearest whole number.

(b} The price of admission to the park is §15 until 5:00 p.M. {(t = 17). After 5:00 P.M., the price of admission to
the park is $11. How many dallars are eollected from admissions to the patk on the given day? Round your
answer to the nearst whoble number. .

() Let H(fy= J:(E(::} ~ Kz}}dz for 92 1 <23 The valuwe of H(17) to the nearest whole number Is 3725,

Find tha value of H'(17) and explain the meaning of H{17) and H'(17) in the context of the pack.
(d} At what time 1, for 0 < 1 < 23, does the madel predict that the number of peopl in the park is a maximum?
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) H'(E) = El) - LE)
H' (1) = B0 - LW = —3%0,281 people/nany
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